DE | EN

BOSCH

A be 51 I N ber 2018
usgabe ovemper Technik fiirs Leben

Antriebsriemen & Kits
Technische Information fur die Werkstatt

ERGANZENDER EINBAUHINWEIS Sicherstellen, dass bei der Montage der neuen Spannrolle (4)
Zusatzlich zur ESI[tronic]-Einbauanleitung beachten Sie bitte der Zapfen (5) richtig in die Nut (6) einrastet. Das Anzugs-
beim Wechsel des Zahnriemens oder des kompletten Kits un- drehmoment erfolgt nach Vorgabe ESI[tronic]-M.

ten stehende Hinweise:

Gilt fiir einige Modelle der folgenden Marken: Montage der Spannrolle

» Renault
Fahrzeuge mit mit KAM-Benzinmotor

Bosch Bestellnummern

» 1987 949 686 Zahnriemen

» 1987 946 560 Zahnriemen-Kit

» 1987 946 918 Wasserpumpen-Kit

Bei der Montage des neuen Kits sind die beiliegenden Montage-
teile unbedingt zu verwenden. Die gebrauchten Montageteile
nicht wiederverwenden.

Die Umlenkrolle (1) hat ein neues Abdichtungskonzept und
kann sich daher von der ausgebauten Umlenkrolle unterschei-
den.

Die neue Umlenkrolle wird mit der beiliegenden Schraube (2)
M10x1,5x56 und der Buchse (3) 26 x 13 montiert.

Robert Bosch GmbH, Automotive Aftermarket, Auf der Breit 4, 76227 Karlsruhe, Germany, www.bosch.com 27.11.2018



Antriebsriemen & Kits | Erganzende Einbauhinweise flr die Werkstatt

— des Zahnri i Nach der Zahnriemenmontage den Verschlussstopfen (10) fur
ontage ces zannriemen-#its die Fixierdornoffnung und die beiden Verschlusskappen (11)

auf der Zylinderkopfriickseite montieren.

Bei der Montage des neuen Zahnriemenkits sind bei einigen
Fahrzeugmodellen auch die Nockenwellenrader zu losen.
Diese Teile flr die Nockenwellenrader liegen den Kits nicht
bei, sie sind vom Fahrzeughersteller zu beziehen.

» Flr den Motor ohne variable Steuerzeiten zwei neue Mut-
tern M10x1 (OE-Nummer 8200793248) fir die Nocken-
wellenrader verwenden.

» Flr den Motor mit variabler Steuerzeit eine Mutter M10x 1
(OE-Nummer 8200793248, Auslassnockenwellenrad) und
eine Schraube OE-Nummer 8200545704 (Einlassnocken-
wellenrad) verwenden.

Die Riemenscheibe (7) mit der neuen Schraube (8) und Unter-
legscheibe (9) montieren.

Das Anzugsdrehmoment erfolgt nach Vorgabe ESI[tronic]-M
und muss unbedingt eingehalten werden.

Robert Bosch GmbH, Automotive Aftermarket, Auf der Breit 4, 76227 Karlsruhe, Germany, www.bosch.com 27.11.2018



DE IEN

BOSCH

Invented for life

Issue 51 | November 2018

Drive Belts & Kits
Technical Information for Workshops

COMPLEMENTARY INSTALLATION INSTRUCTIONS Make sure the pin (5) locks down correctly into the groove (6)
Please note the instructions below in addition to the when installing the tensioner pulley (4). The torques to be
ESI[tronic] installation manual when replacing the timing belt applied are specified in ESI[tronic]-M.

or the complete Kkit:

Applies to models of the following brands: Installation of the tensioner pulley

» Renault
Vehicles with K4M gasoline engines

Bosch part numbers

» 1987 949 686 Timing belt

» 1987 946 560 Timing-belt kit
» 1987 946 918 Water-pump kit

When installing a new kit, the installation parts included are to
be used under any circumstances. Used installation parts must
not be used again.

T
S5

(6) -

The new idler pulley (1) features a new sealing concept and
can thus differ from the removed idler pulley.

This is installed onto the 26 x 13 bushing (3) by means of the
M 10 x 1.5 x 56 bold (2) included in the kit.

Robert Bosch GmbH, Automotive Aftermarket, Auf der Breit 4, 76227 Karlsruhe, Germany, www.bosch.com November 27, 2018



Drive Belts & Kits | Technical Information for Workshops

Installati f the timine-belt kit Once the timing belt has been installed, the seal plug (10) for
nstaffation of the timing-beft ki the locking-pin hole and both of the seal caps (11) are to be

installed on the back of the cylinder head.

At some vehicle models, the camshaft pulleys will have to be

loosened when installing the new timing-belt kit.

These parts are not supplied within the kits. They are to be

purchased from the vehicle manufacturer.

» In case of engines without adjustable engine timing, two
new M 10 x 1 nuts (OE number 8200793248) are to be
used for the camshaft pulleys.

» In case of engines with adjustable engine timing, an
M 10 x 1 nut (OE number 8200793248, exhaust camshaft
pulley) and the bolt with the OE number 8200545704
(intake camshaft pulley) are to be used.

The belt pulley (7) is installed using the new bolt (8) and the
washer (9).

The torques to be applied are specified in ESI[tronic]-M. They
must be observed under any circumstances.

Robert Bosch GmbH, Automotive Aftermarket, Auf der Breit 4, 76227 Karlsruhe, Germany, www.bosch.com November 27, 2018



